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1. We convert y)=(-4.2) to polar coordinates, (. 9)_

lo.360°|

a. (10 pts) Assume >0 and O . Find the exact polar coordinates of the point. This may require

leaving your answer with an 'arctan' in it. Use degrees for angle measures.

S !
(""J’I) on °4 an (_ 1')
=180 - O
_lﬁo-l-aac'!lﬂm( )
The UL

r-= 2™ 4—9
= \20 - 2\s+ \J(p 9) (9_ s, 180 ;-m.—_-l‘.[;'))j

= uu\.uucu.- ldLC dC
b. (10 pts) Approximate your ans in part a_with 4-de P curac

anct L) & —26.56505117°==7
3 = 1600 + Mc"n—-(-%_)

o
o 153.4349488

= 2Vs % 4472135954 P

-

(r &) = (wyzal, i3 “%‘49)
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2. (10 pts) Convert (r.0)= [7- 2 J to rectangular coordinates. Give an exact answer and a decimal answer,

—— —

accurate to 4 decimal places. /'

4.949747467

[x..ﬂ ~ (-w,wev., -q.‘i‘”?'%
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3.

(10 pts) Sketch the graph of ¥ =7sin &

P -
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4. (20 pts) Solve the triangle in the figure. Assume lengths are in miles.

Round your final answers to 2 places

Bonus 1. (10 pts) Give the exact value of side c.
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5. Consider the directed line segment PQ in the figure on the right. I

want you to provide some basic facts about the vector ¥ :

a. (10 pts) Express the vector u=PQ component form.
Uz dv-¢S) -1- (- >
R )/ (-u)

= <1,3>

P(=5.-4) |

b. (10 pts) Compute the magnitude of ¥ . Leave your answer

in simplified radical form.
nall=\(4%+3% --\ﬁ; = 3\(w

c. (10 pts) Express ¥ as a linear combination of the canonical

(standard) unit vectors ! and J .

£ 415 = 9<L,0> + 3<0,17

9 33
. (10 pts) Find the direction angle of ¥ . Use degrees. rounded to 4 places.

9=GA.¢,I""\(L—:,\
~ \ﬂB

| 9

Apr 19-8:13 AM



180419-review-chapter-4.notebook April 19, 2018

6. Let J¥)=2x" —19x" +62x-70

a. (10 pts) Use synthetic division to show that *=3+1 is a solution of the equation flx)= 0

b. (10 pts) Find the linear factorization of 7 thatis promised to us in the Fundamental Theorem of

Algebra.

The fundamental theorem says you can always find ONE root. The factor theorem says
with that root, you can split off a linear factor. Then the fundamental theorem says you
can find one root of the depressed polynomial that is left after splitting off the linear
factor. Rinse and repeat:

The fundamental theorem says ALL polynomials of degree n have n (possibly repeated)
complex roots (which includes real numbers which are just uninteresting complex
numbers.).
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i
X= 'Eg, A==

2 1.3x) = 7 £Gx)

Apr 19-8:27 AM



180419-review-chapter-4.notebook April 19, 2018

j(x\: e (3x-2) -5

@

7 1..(3 (x-},\) =G /x-?,))
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